M N9 Hw #8
Sk 52 %26

Sechs~ 6.3 7,734,737 60

X'L
o0 =0 s f/ Ne Xhe
ci i VAR (SINY:
=0
{
ZY‘— X
3
x = |
> b
- %, = T

C(‘:rlr F\% u.'\' Xx=e, X= }\I.‘T; - ,73

s(,&) DNE/ S Xx=0 O wet - A’)‘V¢""““"‘ . IY5 o asawrk"‘¢.

\
x © 7 Pesys 228 - T
S e
g, o T e 1=k 21
\
fenv = g o 2ele)
9‘ (x:_79 i 6 Y*L\ N
X‘L i ()+x5 x - %X 1 Iy +2x =X
L T
’}m' [+ X g e [14%) (14X
e X
AN
Y R KT [y ¢ A BMASAL N
,?u): —— U—\X)q
y (1+OV+ (2420) - (2040 ) - 20140
(©)= — =
{1e O}
a (e (292:2) - (2-242%)- 2 (1472)
{2y = e

-
-

£
U+’?7q 27



ﬁ I TORU - RV ¥ '
gl% 'b‘+ "YU‘)’ 3 éﬁ X /S\ N “\ms y\_ynl\‘/(—’ )
/
?(KV— -b - Ix
i Sz b Conrave down o~ ("’°/"" ))
p{(l’) 2 =7
’ loncaul ‘-"F Mulf,
ro  taflochin r‘}s
s
5% %39 Aplm: X (Y
__._.—;—-—_.—___"“
feor= x 10xas) * T3
= 4 Dx ¢ (x25)
;yd): Yy + 10+ 2(%48) = Yy4104Qx 410 = x+10
/
§j—2 c)(‘*?/o = _2 3
= -1 === -
é)( Sv(ln = (&) A
= -2 = 3
Z 3B
2 P S -1;6
g(éﬂ 2© f/c-w G-« Lo tomcove domm om = e )
> -4 (oncavt u.ra o~ (-1":— y 63)
'*"-‘- '?i.' Do &=~ ‘[&’(‘(ﬂr( Non 'Fkl
5% 2E° ?(?‘-" U YxAT :
’g("‘:o by’ -Bx =0
{ . :
foo= b 3x % (3 -H)=
,f'/tu‘— (2% -3 Lo .e  2x-H=o
x= Y
ot Fh» & x=o, x=z"(3
Ploy = 120 B> -B = 70 0 loenl aax
) a ['bax.l M_i:\\

f’c‘ffa\: 12-%-8= 1.4-3 m = %= ¥



